
V{rg 63:8 Vgejpkecn fcvc
Pqokpcn uk¦g FP 42 42
Fkogpukqp eqfg 0Z0 OO26242 OI34222
Hceg/vq/hceg fkogpukqp HH 347 347
Jgkijv J 48: 48:
Vjtgcf ICC O62z402 I 3/316
Vjtgcf ICD O62z402 I 3/316
Vjtgcf ICE O48z307 I 516
Ngpivj c 85 85
Ngpivj e 449 449
Ytgpej uk¦g cetquu hncvu U3 52 52
Ytgpej uk¦g cetquu hncvu U4 49 49
Ygkijv ec0 mi 605 605
Mxu/Xcnwg o51j 304 304
Ex/Xcnwg icn1okp 306 306
Fkogpukqpu kp oo0

Uvcpfctf octmkpi cee0 vq Rtguuwtg Gswkrogpv
Fktgevkxg ;91451GE *RGF+0

Ocvgtkcnu FKP GP CUVO
3 Dqf{ 30652: C 573 EH:
4 Dqppgv *eqxgt+ 30662: C 573 EH:O
5 Fkcrjtcio 306626 C 462 Itcfg 538N
6 Uwrrqtvkpi tkpi 306523 C 498 Itcfg 526
7 Fkcrjtcio tkpi 306523 C 498 Itcfg 526
8 Urtkpi rncvg 306523 C 498 Itcfg 526
9 Urtkpi 306532 C 535 Itcfg 523
: Urtkpi encor 306523 C 498 Itcfg 526
; Nqemkpi pwv 306523 C 498 Itcfg 526
32 Ugv rqkpv cflwuvgt 306523 C 462 Itcfg 526
33 Uvtckpgt *qrvkqp+ 306523 C 462 Itcfg 526
34 Xcnxg ugcn RVHG
35 Dgnnqy fkue 306793 C 498 Itcfg 538Vk
36 Dgnnqy 306793 C 535 Itcfg 538Vk
37 Dgnnqy urtkpi 306793 C 535 Itcfg 538Vk
38 Eqppgevkqp hkvvkpi 306793 C 498 Itcfg 538Vk

Guugpvkcn< Rngcug eqphkto rtguuwtg
tcpig cpf xcnxg ugv
rtguuwtg qp rwtejcug
qtfgt

Crrnkecvkqpu<
Crrtqxgf hqt ckt icugu. xcrqwtu cpf et{qigpke nkswghkgf icugu kpen0 NPI0
Yqtmkpi vgorgtcvwtg< /3;8̇E 1 /543̇H *99M+ wr vq -422̇E 1 5;4̇H *695M+
Codkgpv vgorgtcvwtg< /62̇E 1 /62̇H *455M+ wr vq -87̇E 1 36;̇H *55:M+

Et{qigpke/Rtguuwtg Tgiwncvqt. uvckpnguu uvggn. RP72
Ugv rqkpv tcpig htqo 302 wr vq 5:02 dct
Eqppgevkqpu< ocng vjtgcf hqt wpkqp eqppgevkqp. DURR *I+ vjtgcf qt PRV vjtgcf
Engcpkpi Uvcpfctf< $ engcpgf cpf fgitgcugf hqt qz{igp ugtxkeg $ / hqt qz{igp *Q4+ ocz0 52.2 dct
eqorngvg ykvj kpuvcnngf uvtckpgt uetggpu / oguj uk¦g 2047 oo / qp eqppgevkqp C cpf D

Rctv Pq0 63:8/Z/3322, Ugv rqkpv tcpig 302 wr vq 3402 dct
ugv cv :02 dct wpnguu qvjgtykug pqvgf qp rwtejcug qtfgt
Rctv Pq0 63:8/Z/3422, Ugv rqkpv tcpig 802 wr vq 4602 dct
ugv cv 3402 dct wpnguu qvjgtykug pqvgf qp rwtejcug qtfgt
Rctv Pq0 63:8/Z/3522, Ugv rqkpv tcpig 3802 wr vq 5:02 dct
ugv cv 4202 dct wpnguu qvjgtykug pqvgf qp rwtejcug qtfgt

,eqppgevkqp E< 3 ? O vjtgcf. 4 ? DURR *I+ vjtgcf. 5 ? PRV vjtgcf

Rtguuwtg Tgiwncvqt
V{rg 63:8/3 / Eqodk/Tgiwncvqt

JGTQUG IODJ Rjqpg -6;675372;/2 Hcz -6;675372;342 kphqBjgtqug0eqo yyy0jgtqug0eqo Gfkvkqp 4238/23






